
Jerry Greer's Engineering - 1947 Chief - Brake Control - Front

Ref Part # Qty Description Price

Page 1               Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1947 Chief - Brake Control - Front

Ref Part # Qty Description Price

1 552003 1 HAND LEVER ASSEMBLY, rounded end, right hand, Made in USA; Chrome Plated $275.00

2 552004 1 HAND LEVER, ; Chrome Plated $90.00

3 237008 1 HAND LEVER BRACKET, ; Chrome Plated $110.00

4 309005 1 HAND LEVER CLAMP, ; Chrome Plated $85.00

5 JG-2630 1 FASTENERS, hand lever pivot $17.00

6 44130 1 HAND LEVER PIN, $9.50

7 45185 1 HAND LEVER PIN SCREW, #10-32 X .443''(Fillister Head) $9.50

8 JG-2631 1 FASTENERS, hand lever clamp $1.75

9 751031 1 SCREW, #10-32 X .625"(Fillister Head) $1.00

10 751032 1 SCREW, #10-32 X 1''(Fillister Head) $1.00

11 JG-3077 1 BRAKE CABLE ASSEMBLY, lacquered double braided outer and steel inner cable, 1 Cad Plated ferrule included $80.00

12 JG-2521 1 CABLE CLIP, Includes mounting clip and fasteners $6.75

13 28B157 1 CLAMP, 5/16'' tube; Cad Plated $7.00

14 754407 1 SCREW, #10-32 X .500''(Round Head); Cad Plated $0.75

15 922004 1 WASHER, #10 Split Lock; Cad Plated $0.75

16 41825 1 BRAKE CABLE ADJUSTER SCREW, 1/4''-24 2.375''(Hex), long shank; Cad Plated $14.50

17 A22210 1 BRAKE CABLE ADJUSTING NUT, 1/4''-24(Hex); Cad Plated $3.25

18 207007 1 BOLT, 1/4''-28 X .500''(Hex) $2.75

19 922006 1 WASHER, 1/4'' Split Lock; Cad Plated $0.75

20 927019 1 BRAKE CABLE WASHER, 1/4'' O.D .125'' thick, cupped; Cad Plated $5.50

21 276010 1 BRAKE CABLE ASSEMBLY, plastic coated outer and Teflon lined inner cable, universal $25.00

22 42831 1 CASING COVER, 1/4'' I.D, black cloth $9.75

Page 2               Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering


